EARAZROREIERT — 2 N—XBISY —F 2014538118 (&) 19@EKH2H

W+ S>%3% 68FH L9 1 FkE (xwlw | lmEmml - |5 @) w8
[AE4£] 1% :1,300,000 @ ~ 2% :455,000 F 33 :260,000 M 4 3&:195,000 @ 5 7 :130,000 M
B | RE BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
118l10| 7= KT vy # 3 ’gﬁéﬂ%mﬁ 1:(3_9).1 4-3-3-2 |39.8| — | 2 | 460 ;if? (/1v#h)
/R T vy B:Za-T7—Y— (-3) (=1 =
ols|5 LA a Y- i 3 ;i;f%%it 1:(319).3 7-7-7-6 | 39.3| — 1 436 ﬁ;gi (k)
QRXHTIAR B A O | s
3 9| YHM=—757— f 3 | FERZ 1( 73?:52 54-4-3 |39.6| — | 6 | 463 g%g%ﬂ& ()
LT — RELE BiSw I NTAN 5 e
4 6|+ R TL—Z&— 4 3 ?ﬁ@% 1(:13/92.)4 6-6-5-5 |39.9| — 10 | 439 méi (KH#)
QALTAN— b BiATRILT % RS
5 4| RITF4T50— 43 gé*f)ﬁ 1:(450).4 -1-1-1 [ 411 — 8 | 497 gggz(d\w
QHLTAT v — BiA T KK O | gageri s
6l111|F7VI5% # 3 é’g%ﬁz‘c 1(/4\1(;;1 2-2-2-4 |41.1| — | 4 | 420 T&gi‘é (K#)
QAIRT(TFR B ATYEAT 2 i
7 3| O—x—H— 3 ‘5%1%%‘%?% 1:40.6 9-9-9-8 [40.4| — | 3 | 445 %ig:’% (K3)
: 1
QN—NATA— BiZadTILva w Ry
glzl7|7v=4Lya— 3 zﬁéﬁm 1(:14/02.)7 10-10-10-10{ 40.7 | — | 9 | 443 g]ﬂ;?% (k#)
LT KT R RS Bik—viULAa 0 s s
IR AL 3 | BHE- (11:431/48 3567 |41.3| — | 7 | 446 Fggiﬁé_(k#)
RZAZHRLR B:VryIbewTY 2 sk
w0l7lg| KT 4 H—F LRI s 1:(411).2 8-8-8-9 |41.3| — | 5 | 462 fgﬁﬁ %(i#)
LT AR hE Y= BILARTT Y Oz —&
@ 11— F—EBIEAL
1Z=7r= 4,1,9,10,2,6,5,8,3,7
23=3r= 4,1,10,2,9,6,5,8,3,7
J=7"= 4,1,10,2,6,9,5,8,3,7
41—F— 4,10,2,1,6,5,9,3,8,7
0 LRE
BB 10 4708 | [ 74 K 5-10 400MH & 5-8 700H & 2-5-10 3,070M
% B 10 190 2-10 680F e B 8-5 1,600 R3] 10-5-2 14,820
5 130M 2-5 690M 5= 5-10 1,020M
2 230M B H 10-5 2,480M

ABICOVWTRDTEEERROODE. TR LIV,




